LINEAR GUIDEWAYS (@E\'V

Models HSR-R, HSR-RM, HSR-LR and HSR-LRM

N
| |
[ 1N
BT
M P
1
A
"
Outer dimensions LM block dimensions
Model No. Height| Width [Length Cromen
nipple M w L
xt | L] T|k|N|E He
IR SR | 28 | 34 |566| 26 | 26 | Max5 |388| 6 |233| 83 | 55 |PBI021B| 47
IR 20R, | 30| 44 | 74 | 32 | 36 | Msx6 |508| 8 | 26 | 5 | 12 | BM6F | 4
R0y | 30 | 44 | 90 | 32 | 50 | M5x6 |668| 8 | 26 | 5 | 12 | B-MeF | 4
HSRZ5R ., | 40 | 48 |831| 35 | 35 | Mex8 |505| o |345| 10 | 12 | B-M6F | 55
NSR2o-R\ | 40 | 48 |1022] 35 | 50 | M6x8 786 9 |345| 10 | 12 | B-M6F | 55
IR ooRy | 45 | 60 | 98 | 40 | 40 | M8x10|704| 9 | 38 | 10 | 12 | B-MeF | 7
R 30LRy | 45 | 60 |1208| 40 | 60 [M8x10| 93 | o | 38 | 10 | 12 | BMEF | 7
ISR 3SRy | 55 | 70 |100.4| 50 | 50 | M8x12 804|117 |47.5| 15 | 12 | B-MeF | 75
IR aotR .y | 55 | 70 |1348| 50 | 72 | M8x 12 |1058| 11.7 |47.5| 15 | 12 | B-MeF | 75
ISR 70 | 86 | 1391 60 | 89 |m10x17( % | 15 | 60 | 20 | 16 | BPTUB | 10
IR SR | 80 | 100 |83 | 75 | 15 |m12x18| U8 | 205 | 67 | 21 | 16 | BPTUB | 13
onooRe | 90 | 126 |, )35 | 76 | /2 |m16x20(,087 | 23 | 76 | 19 | 16 | BPTIB | 14
IR eoR | 110 | 156 | %281 100 | B2 Im1x 25| 7881 29 | 94 | 23 | 16 | B-PTUB | 16

BALAJI ENGINEERING WORKS




LINEAR GUIDEWAYS Bewv

Models HSR-R, HSR-RM, HSR-LR and HSR-LRM

W4-S
14 , , eoF  ¢Do
i +
. K
M o e = -
i — 0 =
Ll [T W T |
| Yy i f O
Hs B <.
W1W (=}
(5]
Models HSR45 to 85R/ILR/XR/XLR Unit: mm
LM rail dimensions Basic load rating | Static permissible moment kNem* Mass
M:MsMd
Width Height | Pitch Length’| C | Go ~ = | Ay | B

= :‘Elz vl block rail

1 |Double| 1 |Double| 1
block | blocks | block | blocks | block| K9 | ka/m

15 | 95| 15 | 60 | 4.5x7.5x 53 (?828) 10.9(15.70.0945|0.527|0.0945|0.527|0.0298| 0.18 | 1.5

M F d* d2* h Max | kN | kN
;

15 | 95| 15 | 60 | 45x7.5x 53 (?(2’28) 14.2(22.9/0.194|0.984|0.194|0.984|0.145| 026 | 15

20 | 12 | 18 | 60 | 6x9.5x 85 (?ggg) 19.8|27.4|0.218| 1.2 |0.218| 12 |0.235| 025 | 2.3

20 | 12 | 18 | 60 | 6x9.5x 85 (?ggg) 23.9(35.8(0.363| 1.87 [0.363| 1.87 |0.307| 0.35 | 2.3

23 |125] 22 | 60 | 7x11x9 (3888) 27.6(36.4]0.324| 1.8 [0.324] 1.8 |0.366| 054 | 3.3

23 |125] 22 | 60 | 7x11x9 (3888) 35.2|51.6|0.627| 3.04 |0.627| 3.04 |0.518| 067 | 33

28 | 16 | 26 | 80 | 9x14x12 (gggg) 40.5|53.7]0.599| 3.1 |0.599| 3.1 |0.652| 0.9 | 48

28 | 16 | 26 | 80 | 9x14x12 |3200,148.9(70.2|0.995| 489 |0.995| 4.89 0.852| 11 | 48

34 | 18 | 29 | 80 | 9x14x12 |3200,153.9(70.2|0.895| 451 |0.895| 451 | 1.05| 15 | 66

34 | 18 | 29 | 80 | 9x14x12 (gggg) 65 [91.7] 149|713 149|713 |137| 2 6.6

822(101] 15 | 837 | 15 | 837 |1.94| 2.6
45 120.5| 38 | 105 | 14x20x17 | 3090 | 455 | 135|250 | 13.4 | 250 | 134 | 26 | 31 1
121146 | 2.6 [ 144 | 2.6 | 141343 ] 43
53 |235| 44 | 120 | 1623 x20 | 3060 | 14| 194 | 4.46 | 22.7 | 4.46 | 227 | 456 | 54 | 191
195 [ 228 [ 5.08 | 25 |508| 25 | 62 | 7.3 | 225

63 |31.5| 53 | 150 | 18x26 x22 | 3000 | 549|393 | 081 | 456|981 | 456|879 97 | 225

195228 |5.08| 25 |508| 25 | 6.2 7.3 225
24913231 9.81 | 45.6 | 9.81 | 456 [8.79| 9.3 ’
304 |355]10.2|51.2|10.2 | 512|128 13
367 146411691] 81 169 | 81 [16.7 16

63 [31.5| 53 [ 150 | 18x26x 22 | 3000

85 [35.5| 65 | 180 | 24 x35x28 | 3000 35.2

BALAJI ENGINEERING WORKS




Models HSR-A and HSR-AM, Models HSR-LA and HSR-LAM
1L 1K
! b
A REp
iji[i 0
I
Models !S"'$ to (FAKLAKAMELAM Models IS"#$ to %SA&LA
Outer dimensions LM block dimensions
Model No. Height| Width |Length Groase
nipple
1 t T T K N E Hs
HSR 15A
HSR 15AM 24 | 47 |56.6| 38 | 30 | M5 |38.8| — 7 11 |19.3| 4.3 | 5.5 |PB1021B| 4.7
HSR 20A
HSR 20AM 30 | 63 | 74 | 53 | 40 | M6 [50.8| — [ 9.5 | 10 | 26 5 12 | B-M6F | 4
HSR 20LA
HSR 20LAM 30 | 63 | 90 | 53 | 40 | M6 |[66.8| — | 9.5 | 10 | 26 5 12 | B-M6F | 4
HSR 25A
HSR 25AM 36 | 70 [83.1| 57 | 45 | M8 |595( — [ 11 16 [30.5| 6 12 | B-M6F | 5.5
HSR 25LA
HSR 25LAM 36 | 70 (1022 57 | 45 | M8 |786| — | 11 16 [30.5| 6 12 | B-M6F | 5.5
HSR 30A
HSR 30AM 42 | 90 | 98 | 72 | 52 |M10|704| — 9 18 | 35 7 12 | B-M6F | 7
HSR 30LA
HSR 30LAM 42 | 90 |1206| 72 | 52 [M10| 93 | — 9 18 | 35 7 12 | B-M6F | 7
HSR 35A
HSR 35AM 48 | 100 |109.4| 82 | 62 |M10|804| — | 12 | 21 [405| 8 12 | B-M6F | 7.5
HSR 35LA
HSR 35LAM 48 | 100 |1348| 82 | 62 |M10|1058| — | 12 | 21 [40.5| 8 12 | B-M6F | 7.5
HSR 45A 139 98
HSR 45LA 60 | 120 170.8 100 | 80 |M12 1298 25 | 13 | 15 | 50 | 10 | 16 |B-PT1/8| 10
HSR 55A 163 118
HSR 55LA 70 | 140 2011 116 | 95 [M14 156.1 29 (135 17 | 57 | 11 16 |B-PT1/8| 13
HSR 65A 186 147
HSR 65LA 90 | 170 2455 142 | 110 | M16 206.5 37 |215| 23 | 76 | 19 | 16 |B-PT1/8| 14
HSR 85A 245.6 178.6
HSR 85LA 110 | 215 303 185 | 140 | M20 236 55 | 28 | 30 | 94 | 23 | 16 |B-PT1/8| 16

BALAJI ENGINEERING WORKS




LINEAR GUIDEWAYS

| DED L
4-S¢ H through | ‘ L1C eofo 4-¢4 Do
(T T T et
: e i ey |
‘ e ;
W2W W1B F
Models HSR45 to 65C/LC/XC/XLC _—
LM rail dimensions Basic load rating | Static permissible moment kNem* Mass
' N c | co |MMeMLM M
Width Height | Pitch Length? él E@lﬁ ‘(E\F block rail
005 We | M | dix dxh | Max | kN KN [ D08 k| Do |block| k@ | kaim
15 | 16 | 15 | 60 |4.5x7.5x5.3 (‘:’ggg) 10.9(15.7 00945 | 0.527 | 00945 | 0.527 | 00998 | 0.2 | 1.5
15 | 16 | 15 | 60 |4.5X7.5x5.3 (?ggg) 14.2|22.9]0.194|0.984 |0.194| 0984 [0.145| 0.29 | 1.5
20 |215| 18 | 60 | 6Xx9.5X8.5 (?238) 19.8|27.4|0.218| 1.2 [0218] 1.2 [0.235| 0.35 | 2.3
20 |215| 18 | 60 | 6X9.5x 8.5 (?ggg) 23.9(35.8(0.363| 1.87 |0.363| 1.87 |0.307| 0.47 | 2.3
23 |235] 22 | 60 | 7x11x9 (2828) 27.6(36.4]0.324| 1.8 |0.324| 1.8 |0.366| 059 | 3.3
23 |235| 22 | 60 | 7X11X9 (3828) 35.2(51.6(0.627 | 3.04 |0.627| 3.04 |0518| 0.75 | 3.3
28 | 31 | 26 | 80 | 9x14x12 éggg) 40.5|53.7|0.599| 3.1 [0.509| 3.1 [0.652| 1.1 | 4.8
28 | 31 | 26 | 80 | 9x14x12 (gggg) 48.9|70.2(0.995| 4.89 [0.995| 4.80 |0.852| 1.3 | 4.8
34 | 33 | 29 | 80 | 9X14y412 (gggg) 53.9(70.2(0.895| 4.51 |0.895| 451 | 1.05| 1.6 | 6.6
34 | 33 | 20 | 80 | 9x14,12 (gggg) 65 [91.7]1.49 |7.13 | 149 [ 713|137 | 20 | 656
1 35| o0 |10 vemaverr | som |2 1] 35 557 | 3 | 38 | ¥
s s a1 vowaneas oo 2180 ] 26 141 20 [543 358 45 | 2
o 55 3 10| ez oo | 3 R 300 [ 25 30 [ | B | 5 | 23

<
" BALAJl ENGINEERING WORKS

Models HSR-A and HSR-AM, Models HSR-LA and HSR-LAM

apIN W1

BALAJI ENGINEERING WORKS




LINEAR MOTION GUIDEWAYS

(1) Non-interchangeable type

SE : Metallic End Cap
RC : Reinforced Cap

No. of Rails per matched set"

HG|WI[25|C|[A|E| 2[R | 1600 ZA| P||l|+|DD/E2/RC
Dust Protection’
E2 : Self - Lubricant
HG Series
Block Type
W : Flange Type
H : Square Type Precision Cod
. 3 recision Code :
L : Square Type (Low) C,H, P, SP, UP
Model Size Preload Code : ZO, ZA, ZB
15, 20, 25, 30, 35, 45, 55, 65
E : Special Rail
Load Type None : Standard Rail
C: Heavy Load Rail Length (mm)
H : Super Heavy Load
Rail mounting Type
R : Mounting From Top
Block Mounting T : Bottom
A : Mounting From Top
B : Bottom
Note :1. The roman numerals express a
C : Top or Bottom matched set of rails.
E : Special Bolck No symbol indicates standard protection
None : Standard Block (end seal and bottom seal).
. ZZ : End seal, bottom seal and scraper
No. of Blocks per Rail KK :Double seals, bottom seal and scraper.
DD : Double seals and bottom seal
Block type HGL is the low profile design of HGH
(square type), the assembled height is same as
i HGW (flange type) in same size.
(2) Non-interchangeable type
Model Number of HG Block
HG|W([25] C | A | E [ZA +(ZZ /] E2
|_ Dust Protection’
HG Series E2: Self—Ll.Jbricant
Block Type SE : Metallic End Cap
W : Flange Type Precision Code :C, H, P
H: T
Square ype; Preload Code : ZO, ZA
L : Square Type
Model Size E : Special Block
15 20 25 30, 35 45, 55 65 None : Standard Block
Load Type Block Mounting Type
C : Heavy Load A : Mounting From Top
H : Super Heavy Load B : Bottom, C : Top or Bottom
Model Number of HG Block
HG| R [25| R | 1200 | E | P [+([RC

HG Series

Interchangeable Rail

Model size
15, 20, 25, 30, 35, 45, 55, 65
Rail Mounting Type
R : Mounting From Top
T : Bottom

L Rc : Reinforced Cap

Precision Code : C, H, P

E : Special Rail,

None : Standard Rail

Rail Length (mm)

BALAJI ENGINEERING WORKS

CBALMI ENGINEERING WORKS




LINEAR GUIDEWAYS - HG SERIES

HGH-CA / HGH-HA

2-1-13 Dimensions for HIWIN HG Series

—
(BE\N
(\:EAWI ENGINEERING WORKS

G L
W K2 L1
4-Mx] B B c
IRl | D . 1 t
- = i H H el
L EF’ | | {P’ ! ! A d
T | .:t |
@ LHJ © £ |
I 7 | 7/ 1
1/
N WR E E
MR MP My
LN L\ LD
K3 D
5% =1 jo
k) )
Dimensions Dimensions Of Block (mm) Dimensions Of Ral (mm) Mounting | Basic | Basic | Static Rated Weight
Of Assembly Boltfor | Dynamic | Static Moment
Model| (M) Ral | Lload | Load
No. Rating | Rating
HIH/N|[W[B|B|[C| L |L|KL|K2G|MxlI|T|H|H W H[D|[h|[d|P|E/(@mm)|CkN)CkN) M, | M, | M;[Block| Rail
KN-| kKN-| kN-| Kg |Kg/m|
m m m
HGHISCA [ 28| 43| 95 [ 34 [ 26| 4 | 26 | 94 | 614 | 10 [ 485 53 | xS | 6 | 795 77 |45 5 [75 (53 [45|60 | 20 | Mate | 1138 | 1697 | 0.2 [ 0.0 | 0.0 | 018 | 145
HGH20CA % | 505 | 75 | 1225 175 | 26 [ 027|020 020] 030
KGRI W46 |0 R T Ty T | 6| 2| M| 8| 6| 6 || U595 85| 6| 60| A | WK T o Tom T |
HGH25CA B S8 | 84 | 168 2648 | 3649 | 0421033 (033 051
e 0155|058\ B85 e T Te ] O | 2| M| 8 09 BRS8N M T T e Ton T ]
HGH30CA 01 70 | 974 |05 B2 | 52109 | 066 | 053] 053 | 088
R B16 |16 | 80140 T T 6| 2| M0 |85 ) 95 | B8 BB (U090 D | WS T e T Toa T | Y
HGH35CA 0 80 | 124 | 26 095 | 6916 | 116 | 081 | 081 | 145
e SIS 8| 00| 0 ey T ] | | M2 02 6 (96 M B 98D WS e T e T T T
HGH45CA 0] 97 [104] B 75T | 1070|198 | 155 | 155 | 27
e 195 (5| % |60 | B T Ty T ] |29 0T | 16| 185305 | 45| B ) 0| 7405 ) D5 | M e e T e Ty e | M
HGH55CA 751177 | 1667 | 23 144 | 14833 | 369 | 264 | 264 | 417
e 0| B85 | 0|75 08 ey T ] 1[0 M208 | 05| 2 8|S M B D 0| M e e T T Te | B
HGH65CA 0| 1442 | 002 | 44 16363 | 21533 | 665 | 427 | 427 | 427
v W 15305 | 06| 76| B e T [ MG | B 0555 6 B 26 20| | MBE) e

BALAJI ENGINEERING WORKS




LINEAR GUIDEWAYS - HG SERIES

HG Series
Heavy Load Ball Type

HGW-CC / HGW-HC

K1

—

" BALAJI ENGINEERING WORKS

& &
6 L
Ko Ly
‘-N—\BI B c
Vi @D l T -
e T i R fih T
e o 4 ey
= 7 = E =
| | = 1A [Eo5 EE
)L| Vi [
"N wa | loa
E P E
M A
Mg —
Dimensions Mounting[Basic  |Basic Static Rated )
f ; f ; f Dynamic | Static t Weight
of assembly Dimensions of Block (mm) Dimensions of Rail (mm) | boltfor (2 “F5| P2 omen
(mm) rail  |Rasting |Rasting
Model No.
MR |[Mp | My [Block|Rail
HIH1 N|w|BB1|c|L1| L [Ki|k2|c|M|T|T1|T2|H2[H3|W2|H2|D|h|d|P|E]| (mm) | CKN) [C1(KN) kN-m |kN-m| kNm (kg kg/m
HGW1sCC | 24 [4.3| 16 |47(38|4.5| 30 | 39.4| 61.4 | 8 |4.85(5.3( M5 | 6 |8.9(6.953.95(3.7| 15| 15 |7.5/5.3|4.5(60| 20 | M4X16 | 14.7 | 23.47 [ 0.12 | 0.10 [ 0.10 | 0.17 [ 1.45
HGW20CC 50.5| 77.5 [10.25 271 | 36.68 | 0.27 | 0.20 | 0.20 | 0.40
30| 4.6(21.5(63|53| 5 | 40 6 |12|Mm6| 8 [10]9.5| 6 | 6 | 20([17.5(9.5(8.5| 6 |60 | 20 | M5X16 2.21
HGW20CC 65.2(92.2(17.6 327 | 47.96 | 0.35 | 0.35 | 0.35 | 0.52
HGW25CC 58 | 84 [10.7 37.9 | 52.82 | 0.42 | 0.33 | 0.33 | 0.59
36 | 5.5(23.5(70( 57 |6.5| 45 6 |12(Mm8| 8 [14|10| 6 [ 6 |23[22(11[ 9| 7 |60 20| M6X20 3.21
HGW25CC 78.6(104.6| 21 422 | 69.07 | 0.56 | 0.57 | 0.57 | 0.80
HGW30CC 70 | 97.4 [14.25 485 | 71.87 | 0.66 | 0.53 | 0.53 | 1.09
42 6 | 31]90(72| 9 |52 6 | 12 (m10(8.5( 16 | 10| 6.5[6.5|28 | 26 [14[12]| 9 |80 20 | M8X25 4.47
HGW30CC 93 (120.4(25.75 58.6 | 93.99 [ 0.88 | 0.92 | 0.92 | 1.44
HGW35CC 80 [112.4| 14.6 64.6 | 93.88 | 1.16 | 0.81 | 0.81 | 1.56
48 [7.5( 33 100 82| 9 | 62 7 |12 (m10[10.1 18 | 13| 9 | 9 | 34|29 |14|12| 9 |80 20 | M8X25 6.30
HGW35CC 105.8|138.2| 27.5 77.9 |122.77 | 1.54 | 1.40 | 1.40 | 2.06
HGW45CC 97 (198.4| 13 103.8 |146.71| 1.98 | 1.55 | 1.55 | 2.79
60 (9.5|37.5[1201100| 10 | 80 10 |12.9(M12[15.1 22 [ 15| 8.5| 8.5| 45 | 38 | 20| 17 | 14 |105/|22.5[M12X35 10.41
HGW45CC 128.8|171.2| 28.9 1253 |191.85| 2.63 | 2.68 | 2.68 | 3.69
HGWS55CC 117.7166.7|17.35 153.2 | 211.23| 3.69 | 2.64 | 2.64 | 4.52
70 | 13 (43.5140/116/ 12 | 95 11 [12.9|M14|17.5(26.5| 17 | 12 | 12 | 53 | 44 [ 23|20 16 |120[ 30 |M14X45 15.08
HGWS55CC 155.8204.8| 36.4 184.9 |276.23| 4.88 | 4.57 | 4.57 | 5.96
HGW65CC 144.2{200.2| 23.1 213.2 |287.48| 6.65 | 4.27 | 4.27 | 9.17
90 | 15 [53.5[1701142| 14| 110 14 [12.9|M16| 25 |37.5| 23 | 15 | 15 | 63 | 53 | 26|22 | 18 [150| 35 | M16X50 21.18
HGW65CC 203.6(259.6| 52.8 277.8 |420.17| 9.38 | 7.38 | 7.38 | 12.89

Note : 1kgf = 9.81N

BALAJI ENGINEERING WORKS




